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• 𝐹௔  𝐹௩

1.5

• 𝑆஽ௌ)

𝑆 × 2.5 × 𝐹௔ ×
ଶ

ଷ
= 2.5S

• 𝑆஽ଵ)

𝑆 × 𝐹௩ ×
ଶ

ଷ
= 𝑆

•  T଴ =  
଴.ଶ×ௌವభ

ௌವೄ

• Tୱ =  
ௌವభ

ௌವೞ

•
𝑆஽ௌ

•
𝑆஽ௌ

𝐼௫= 
ଵଶ×ଵଶయ

ଵଶ
= 1728𝑚𝑚ସ

𝐼௬= 
ଵଶ×ଵଶయ

ଵଶ
= 1728𝑚𝑚ସ

𝐼௫= ଵ଴×ଵ଴య

ଵଶ
- ଶ×ଶయ

ଵଶ
= 832𝑚𝑚ସ

𝐼௬= ଵ଴×ଵ଴య

ଵଶ
- ଶ×ଶయ

ଵଶ
= 832𝑚𝑚ସ

𝐼௫= 
଼×ଵଶయ

ଵଶ
= 1152𝑚𝑚ସ

𝐼௬= 
ଵଶ×଼య

ଵଶ
= 512𝑚𝑚ସ

∗ 𝐿 = 150𝑚𝑚 ∗ 𝐸 =
௉௅య

ଷఋூ∗ 𝐼 =
௕௛య

ଵଶ

500년주기
2400년…

𝑆௔

•
•

∗



•
•
•

•
•

•
•

•
•
•
•

• °

•

•
•

• • • • • •



•
•

∗

•
•

•
•



•

•

•
•
•

•

•

•

•
•
•

•
•
•

•

•






